Chapter 9 – Practice Questions


Figure 9-5
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1.
Refer to Figure 9-5. With trade and without a tariff,

a.
the domestic price is equal to the world price.

b.
carnations are sold at $8 in this market.

c.
there is a shortage of 400 carnations in this market.

d.
this country imports 200 carnations.


2.
Refer to Figure 9-5. Before the tariff is imposed, this country 

a.
imports 200 carnations.

b.
imports 400 carnations.

c.
exports 200 carnations.

d.
exports 400 carnations.


3.
Refer to Figure 9-5. The amount of revenue collected by the government from the tariff is

a.
$200.

b.
$400.

c.
$500.

d.
$600.

Figure 9-14
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4.
Refer to Figure 9-14. Consumer surplus with trade and without a tariff is

a.
A.

b.
A + B.

c.
A + C + G.

d.
A + B + C + D + E + F.


5.
Refer to Figure 9-14. Producer surplus with trade and without a tariff is

a.
G.

b.
C + G.

c.
A + C + G.

d.
A + B + C + G.


6.
Refer to Figure 9-14. Consumer surplus with the tariff is

a.
A.

b.
A + B.

c.
A + C + G.

d.
A + B + C + D +E + F.


7.
Refer to Figure 9-14. Producer surplus with the tariff is

a.
G.

b.
C + G.

c.
A + C + G.

d.
A + B + C + G.


8.
Refer to Figure 9-14. The amount of government revenue created by the tariff is

a.
B.

b.
E.

c.
D + F.

d.
B + D + E + F.


9.
Refer to Figure 9-14. As a result of the tariff, there is a deadweight loss that amounts to

a.
B.

b.
E.

c.
D + F.

d.
B + D + E + F.


10.
Which of the following is not a commonly-advanced argument for trade restrictions?

a.
the jobs argument

b.
the national-security argument

c.
the infant-industry argument

d.
the efficiency argument

Answers:

1=A, 2=B, 3=B, 4=D, 5=A, 6=B, 7=B, 8=B, 9=C, 10=D

